Intermediate Algebra - 2.4-2.5 - Word Problems & Inequalities August 28, 2015

Chapter 1 Homework o
Chapter 1 Homework o6th pewod.
1.1 #1-137 odd

1.2 #97-113 odd
1.3 #30-57 odd; 97-105 odd; and study properties!

2.1-2.5 & Quiz 2 due Monday
Test #1 Tuesday

1.4 #1-31 odd

Chapter 2 Homework

2.1#39-77 odd 8th period:

22#7-27 oad 2.1-2.4 & Quiz 2 due Monday
2.3 #7-25 odd

Test #1 Wednesday
2.4 #5,7,11,17,19,23,27

2.5 #35-71 odd
2-6-#33-69-ode-
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2.4 Problems Involving Percent

Important formulas:

principal X interest rate = interest earned

(original investment $) (% written as decimal) %)

amt of solution X % concentration = amt of substance

(volume of water mixed (portion of solution (volume of just

with dissolved substance) that is the dissolved dissolved substance)
substance)

18. A chemist mixed 100 ml of an 8% saline solution with 60 ml of a 5%
saline solution. Find the percent concentration of the resulting mixture.
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26. How much water must be evaporated from 10 gal of a 12% sugar
solution in order to obtain a 15% sugar solution?

< orekt

A cashier has $730 in twenty-dollar bills and five-dollar bills. In all,

the cashier has 68 bills. How many twenty-dollar bills does the

oy

cashier have?
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Compound Inequalities

and N intersection ANB

x is in both A and B

or U union AUB

X isin either A orB

36. x —3 <1 and 2x = —4

X224 N xz-2
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What if the problem had been...
x—3<1or 2x=—-4
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3x—1<11 or 2x+5>—-11

3x =12 2% >l
X <24 U X> =8
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4<3x—-5<2x—-10
A <315 o Ix-S5<2x -6

q<3x q XN =-S5
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